(BB

ORMGHEER T & DRR™ OB MEE RIS E #
ER N e JE{1: Bo % JE{1 Bo It %k
0k 5 1 5z B T 45 st e T 2
15~ 14 2 KA T 20 SZMET 3
B~ 35 5 & LT 14 HEHT 7
108~ 38 9 205 R 20 = FE T 2
2075~ 25 6 BA T 13 B8 /7 R ET 0
305% ~ 33 10 HER) 1T 4 R T 4
4055~ 24 10 LR 1 B 2 NHT 1
507 ~ 25 6 B iR i 1 % J\HT 3
6055~ 9 1 PE™ 12 1B BT 0
657% ~ 7 0 BB 0 KEFHT 0
T07% ~ 6 0 ERMX™ 10 th FH T 1
807 ~ 4 0 el 5337 9 Jb 75 HT 3
905%~ 0 0 BIFIR T 14 IRATHT 9
B 0 0 AR 13 = ST 2
A&t 225 50 LB 3 113387 1
1 BRERRESH S>ORER (BAREEET) Inig 5 + SR AT 1
¥2FUC: BEZ7+0—7y 7y & — FREH T 0 ANE=D=:1:i1) 1
ARE™ 4 =PIl 1
AL 12 E(=PIES) 0
Tam 4 1H= T 0
BE™ 1 =Pk 0
&5t 246

X3 REBRUREBNFIOBIEEDGR (E4 DEFSNIABE
Bl 0THY, AARKOKKEBEBDHENH D)



